
qm=;= k=k=g+= gf=k|=g+=hf/L lhNnf gfdy/ ln+u &]ufgf hGd ldlt

1 417 5266.072.12.27 l/of sf}zn d= demufjf 2 2065.1.20

2 418 5257.072.12.27 dfof ;xfgL d= demufjf 2 2060.1.20

3 419 5251.072.12.27 l;/fh cxDdb wf]aL k' demufjf 3 2059.10.23

4 199 10817.064.6.10 /Def dNnfx d= demufjf 6 2047.4.10

5 463 5252.073.12.27 jljtf &&]/ d= sf]^xLdfO{ uf=k=5 2066.6.10

6 464 5091.059.9.2 >j)f s"df/ s"dL{ k' sf]^xLdfO{ uf=k=5 2040.5.16

7 465 5263.073.12.27 Zofd ;"Gb/ kf;L k' sf]^xLdfO{ uf=k=5 2057.9.2

8 466 5256.2072.12.27 dlg;f ofbj d= sf]^xLdfO{ uf=k=5 2064.1.20

9 467 5248.072.12.27 lk|td &&]/ sf}zn k' sf]^xLdfO{ uf=k=5 2059.9.20

10 468 37443036.2.25 ;bfgGb s"dL{ k' sf]^xLdfO{ uf=k=5 2006.4.2

11 469 3703.74.00340 ;f]gf}j/ cnL k' sf]^xLdfO{ uf=k=5 2056.8.28

12 470 5268.2072.12.27 ;ho rfO{ k' sf]^xLdfO{ uf=k=5 2065.10.5

13 471 5258.2072.12.27 sd?lbg r'l/xf/ k' sf]^xLdfO{ uf=k=5 2058.1.12

14 472 5260.072.12.27 l;ndg nf]xf/ k' sf]^xLdfO{ uf=k=5 2025.3.15
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